4

3

2

CLOPAY CANYON RIDGE SERIES: CAN1nn—XX
HOLMES BROOKSTONE SERIES: BRK1nn—XX
IDEAL BROOKSTONE SERIES: BRK1nn—XX

MODEL DESIGNATION NOTE 1: "nn” REPRESENTS THE
ARRANGEMENT OF THE DECORATIVE OVERLAYS. THE FIRST DIGIT WILL
HAVE A VALUE FROM 1 TO 3 AND THE SECOND DIGIT WILL HAVE A
VALUE FROM 1 TO 8.

MODEL DESIGNATION NOTE 2: ”XX” REPRESENTS THE TYPE OF
CLADDING. IF "XX" IS "NM” OR "NC” THE DOOR HAS NO CLADDING
(JUST OVERLAYS) AND IS 1-7/8” THICK OVERALL. ANY OTHER
VALUE FOR "XX" INDICATES THAT THE DOOR HAS CLADDING AND
OVERLAYS ON THE 1-3/8" BASE DOUBLE—SKIN INSULATED DOOR
AND IS 2-3/8" THICK OVERALL.

DOOR HEIGHT

# OF
SECTIONS

UP TO 60"

6’3" 1O 8’0”

8’3" 10 10°0*

10’3” TO 120"

12’3 TO 140"

14’3 1O 16'0"

OIN[ || |w

MAX SECTION HEIGHT: 24”

ALL WINDOW OPTIONS AVAILABLE IN DSB (OR BETTER).

G Il 3
41
11

L un
4%

4TP

——

JMF—®
40P
Ll

4T

E/IL3

MAX. DOOR HEIGHT = 16’-0~

MAX DOOR WIDTH = 16’-0"
INSIDE ELEVATION

VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS):

3/8"x 3" (1—1/2” MIN. EMBED) LAG SCREWS ON 19" CENTERS. LAG SCREWS MUST USE 1-1/8" 0.D.

N

REVISIONS
REV. NO.[ ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
00 - - - SH INITIAL RELEASE
01 - 11,/2009 - SH UPDATED MODEL DESCRIPTIONS.
SECTION B-B
FRONT FRAME.

OPTIONAL DECORATIVE
GRILLE ELEMENTS
AVAILABLE.

)

GLAZING.

(SINGLE PANE SHOWN,
MAY BE INSULATED
DOUBLE PANE).
EXTRUDED INSIDE
LITE RETAINER.

W

1
Wi

OVERLAY.
OPTIONAL CLADDING.
INSULATED DOOR SECTION.

\#B PAN HEAD SCREW.

(1) SCREW PER PILOT
HOLE. SCREW LENGTH IS
—3/4" FOR DOORS

ITH CLADDING AND

1-3/8" FOR DOORS

Wi

SLIDE BOLT
END LOCK ENGAGES
STILE INTO VERTICAL
TRACK. ONE
LOCK ON
EACH SIDE
OF DOOR.

TWO POINT Locking AINSIDE SLIDE BOLT
0 TRACK LOCK

TRACK CONFIGURATION

WASHER. LAG SCREWS MAY BE (BUT NOT REQUIRED) COUNTERSUNK TO PROVIDE A FLUSH MOUNTING

SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

VERTICAL JAMB ATTACHMENT (CMU BLOCK OR 2.000 PS| MIN. CONCRETE COLUMN):

3/8” X 3" (1-1/2" MIN. EMBED) SLEEVE ANCHORS ON 17" CENTERS (GROUT—FILLED CMU BLOCK
OR 2,000 PSI MIN. CONCRETE) OR 1/4"x 3” (1—1/2" MIN. EMBED) TAPCON SCREWS ON 14”

CENTERS (2,000 PSI MIN. CONCRETE). WASHERS INCLUDED WITH SLEEVE ANCHORS

, 1”7 0.D. WASHERS

REQUIRED WITH TAPCONS. ANCHORS MAY BE (BUT NOT REQUIRED) COUNTERSUNK TO PROVIDE A

FLUSH MOUNTING SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. '

o

SECTION C—C STOP MOULDING BY DOOR %

INSTALLER (TO SUIT) 5]

45550 R 16 GA. MIN. GALV. STEEL END STILE !

) | . 5

12 GA. GALV. STEEL TRACK :

BRACKET FASTENED TO WOOD 2

wég%BLXVcI;THsccr)e'::\E/ 5;,{:}{6 é(;e/:gl{l-?r 7/16" PUSHNUT 14 GA. MIN. GALV. STEEL CENTER HINGE &
: INSTALLED ON FASTENED TO BACK OF DOOR W/(4)

2” GALV. STEEL TRACK

FASTENED TO TRACK BRACKETS.
EACH BRACKET ATTACHED WITH ONE
1/4"x5/8" BOLT & NUT OR

TWO 1/4" RIVETS.

UNRESTRICTED
OPERATION.

STEEL OR NYLON TIRE.
PREPARATION OF JAMBS BY OTHERS.

NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS

SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF

RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE

WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.

14 GA. GALV. STEEL ROLLER HINGE FASTENED TO
END STILES W/(4) EACH #14x5/8” SHEET METAL
SCREWS AND (4) 1/4"x3/4” SELF TAPPING SCREWS.

2” 10 BALL SHORT STEM STEEL ROLLER WITH

ROLLER SHAFT FOR EACH #14x5/8" SHEET METAL SCREWS.

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SUIT)W

14 GA. END HINGE 14 GA. INTERMEDIATE HINGE

TRACK CONFIGURATION ABOVE DOOR OPENING

ITH NO CLADDING.

METAL SCREWS

(4) 1/4"x3/4" SELF

TAPPING SCREWS

Y
Lot

A

DOES NOT AFFECT THE WIND LOAD RATING.

13 GA. GALV. STEEL FLAG BRACKET.

EACH FASTENED TO WOOD JAMB WITH
(3) 5/16"x1—1/2" WOOD LAG SCREW.

NOTE: DOUBLE TRACK

LOW HEADROOM IS
AVAILABLE AS AN OPTION.

2" GALV. STEEL TRACK,
TRACK THICKNESS: 0.060".

i TYP. 2-1/2"x12 GA.

GALV. STEEL TRACK
BRACKET. MIN. (4)
TRACK BRACKETS "PER
SIDE. DISTANCE BETWEEN
TRACK BRACKETS NOT TO
EXCEED 30” O.C.

LHR TOP BRACKET
DOUBLE HORIZONTAL

27 GA. STEEL MIN. INTERIOR & EXTERIOR SKIN_—]
WITH G—40 GALVANIZING, BAKED—ON PRIMER AND
A BAKED—ON POLYESTER PAINTED TOP COAT.

d

. HIGH DENSITY MOLDED COMPOSITE OVERLAY
(4) #14x5/8” SHEET ~ AND OPTIONAL CLADDING ADHERED TO FRONT
SKIN WITH URETHANE ADHESIVE.

DOUBLE TRACK
LOW HEADROOM OPTION

1-7/8" OR 2-3/8" END
STILE THICKNESS. SEE NOTE—]
AT MODEL DESCRIPTIONS.

ONE POUND DENSITY EXPANDED
POLYSTYRENE FOAM INSULATION
LAMINATED TO BOTH EXTERIOR AND
INTERIOR SKINS.

13 GA. GALV. STEEL
BOTTOM BRACKET.
ATTACHED WITH (2)
#14x5/8” SHEET
METAL SCREWS.

7

TONGUE AND GROOVE JOINTS.

SECTION A—A
—— 1-3/8” THICK BASE DOOR

2 -

2 GA. GALV. STEEL TOP
ROLLER BRACKET. EACH
BRACKET ATTACHED WITH
(4) #14x5/8" SHEET
METAL SCREWS.

P
A

14 GA. GALV.
STEEL ROLLER
HINGE. SEE

SECTION C-C.

3"x 20 GA. GALV. STEEL
\_ U—BAR. TWO U—BARS

PER DOOR SECTION.
ATTACHED WITH (2)
1/4"x3/4” SELF TAPPING
SCREW AT EACH HINGE
LOCATION.

27 GA. STEEL MIN.
INTERIOR SKIN WITH
G—40 GALV., BAKED—ON
PRIMER AND A
BAKED—ON POLYESTER
TOP COAT.

ALUMINUM EXTRUSION
& VINYL WEATHERSTRIP.

DESIGN LOADS: +25.0 P.S.F. &

TEST LOADS: +37.5 PS.F. &

DESIGN ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

DOOR o THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE

HEIGHT L WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
6'—6" 70 IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REF. CHAPTER 16 FBC/IBC).

7'-0" 76"

76" 82’ THIS DOOR MEETS OR EXCEEDS THE DESIGN

8-0’ 88" LOADS FOR THE WIND SPEEDS LISTED BELOW

8 -6 947 ACCORDING TO THE FLORIDA BLDG. CODE

90" 1007 OR IBC (ASCE7) FOR THE FOLLOWING

— - CONDITIONS: 1)” ENCLOSED BUILDING, 2) DOOR

9'-6 106 HAS 2 OF WIDTH IN BUILDING'S END ZONE,
10'-0" | 112* 3& IMPORTANCE FACTOR OF 1.0, 4) ANY ROOF
10'-6* | 118* SLOPE, AND 5) 50% SAFETY FACTOR.

-0 |124* WIND SPEED (MPH)| <100 [110 | 110 120
-6 130 EXPOSURE LEVEL |B or C| B C B
12'=0° | 136” MEAN ROOF HEIGHT| 30' 30 | 15°] 30
12'-6" | 142"
130" [148” MANUFACTURING PRODUCT CODE:
e MPC: DSIEO—1E479
14-6 166° Unless Stated Otherwise | (I [=| 3585 D&'—‘F@(?E('Jevﬁsrg CLOPAY WINDLOAD RATING

7 " " ason,
5—0" 172 TOLERANCES are opay s %2560 w 4
15'-6* 178" 0 = +.031 Bmldlng Products Company Fax No. 513 770—4853
167-0" |184 688 = I-gég DESCRIPTION: CANYON RIDGE +25 PSF DBL CAR

250 P.S.F 0000 = +.001 |DRAWN BY: SH DATE: 6/2009 |SCALE: N/A DWG.
-37.5 P.SF. Degrees = *1/2° |CHECKED BY: SH DATE: 6/2009 |[SHEET 1 OF 1 |SIZE
ORIGINAL DRAWINGS ARE SIGNED IN BLUE Unless Stated Otherwise
INK WITH A RAISED SEAL (EMBOSS). DIMENSIONS ARE IN INCHES.| DWG. NO.: 104262 VER: IBC

4

3

N

FLORIDA PRODUCT APPROVAL 5675




